05725-01 EEEZRNREXRH K T FREMEEL

7= miiEA

ME
Mo

g -
MEEE
it R F R,

BR
05725-01-04000 MIEFEHRE —IETHRRER,
ARENEHFE.

M -
05240
05241
05260
05885-01
05887-01
05888
05280
05880-01

© norelem www.norelem.com



05725-01 EEERNIRERY , TRRENEEL

A | 5 i
; oy
o DK
QQ“ () g -(b— £ ‘ . i
== O — - :
1 - g {!} {9>J | —

www.norelem.com

© norelem



05725-01 EEEZRNREXRH K T FREMEEL

05725-01-02600

05725-01-04000 112° 61° 250 2000 4000 1400 3000
05725-01-04400 90° 70° 200 2200 4400 1400 2800
05725-01-07000 90° 70° 250 3200 7000 1400 3000
05725-01-08000 100° 50° 280 3000 8000 1800 3900

05725-01-02600 19 35 32 47 6 | 3 32 175 16 71 |31 173 | 1119 73,9 M8x60

05725-01-04000 318 | 492 453 | 643 | 8 | 3 44 19 20 8,7 |40 206 | 1403 91,1 M10x85
05725-01-04400 32 50 45 64 8 | 4 42 22 20 83 |40 218 148 98 M10x80
05725-01-07000 32 53 45 64 | 10| 5 51 25 23 87 |44 226 178 128 M12x100
05725-01-08000 508 | 76,2 698 | 952 | 10| 8 | 82,1 | 31,8 32 123 |50 303 234 157,8 M16x150

© norelem www.norelem.com



